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1: 833 + 526 + 247  ~-- - m e etne e 1=
2: 223 £ 521 4 628 oo neeo oo 2=
3: 169 + 702 — 826  ~~=vmmmmmm e m e e oD Co oo oo oo 3=
4; 997 + 369 + 655 + 790 - mmr e e 4=
5: 219 + 905 — 620 + 548 oo o m i 5=
6:  B7.7 — 107 + 155 oo e 6=
7: 381 — 1.49 + 5,58  commme e imm e oo 7=
8: 306 — 31900 + 6740 + 80400 --------mmmm o e 8=
9: 411 % 3.11/569  ---r-mmmem e e e o e 9=
10: 448 x 0.313 x 0.614/0.631  ---veommm e e 10=
11: Calculate the sum of the square root of seventeen and one-third of
five-sixteenthg, ~----- - m e e dmc oo oo mm e me o 11=
12: How far does a car travel in 2 hours 12 minutes at an average speed of
48 miles per hoUr? —- == - oo e o oo s oo —emmo oo 12=_ _ miles
13: Zach scored 74, 78, 79, and 89 on his first four homework assignments. He

wants an overall average of 85. He has four more assignments to turn in. What
should he average on the remaining assignments to reach his goal? -----«=------- 13=__________(integer)
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14:

15:

16:

17:

18:

19:

20:

21:

22:

23:

24

25:

26;
are black? =---se e e oo 26=
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(0.0909 - 0.0106) — {-0.421 — 6.46} - -----m oo 14=
(5.06 x 9.24} + {802 x 3.92) e e 15=
{123 + 202 + 230) — (88 X 9.19)  —-- oo 16=
(53.4 + 28.2)(—49.2 + 12.1) = (5.11)  -ormmomomme e oo eee e 17=
(69.9 + 75.6) — (8.07 — 4.39) — (0.12 — 77.6) ------cmmmmmmmmes 18=

-90.5 - 463 849 - 138

884 T 897 | TTTTTTTTTTTTTroToTomommoTmooees 19=
0.0352 - 0.0603 + 0.547 000674 502
0.986 + 0.00311 0.0772 -
(22.6 + 1.09)(7.6}) 65.8 - 75.3 21—
18.8 - 19.5 -
(0.00449) (0.00866) (0.0407 + 0.41})  (0.118 - 0.00152) .
0.00449 © 0.00684 - 0.576 -

(62}(42.6) (m — 0.869) (1770 — 82.3}) 23e
392 " 7130 + 80.5 -

What number cubed and then added to 17.3 equals 40?7 ------oueeemennnnn 24=

A dime is 1.52 mm thick. How tall is a single stack of dimes worth $17.60? - 25=

A piano has 88 total keys: 52 white and 36 black. What percent of the keys

ft

%
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27:

28:

29:

30:;

31:

32:

33:

34:

35:

36:;

each other, how long does it take them to meet?

(1.84 - 0.0369
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)

{5.14x 101 + 4.17x 100} A 27=
(0.0124 + 2.9)
) ~0,744 - (m + 0.632 + 7.32)(0.0221)
(2.48x10 ) X j— T I T T eeieieiieaees 28~
(5.73)(~0.0984){0.773)
(0.0886)(0.0298) + (0.0886)(9.2 - 4.34) + (0.0886)(8.44 — 4.45) ------ 29=
1 1 1
647 | 0721 <057 TTTTTTTTTTTTTTTTITToToTTmmmmmmmmmmmoons 30=
( 1 )(1 )( 1 ) 196-331 3o
6390/1844/\33.4 219 -
[ 1/0.0524 ] [~0.0502 + 0.00609] _______________ .
0.173 + 0.0837 + 0.00696 0.00471 / 0.00188 -
1 (—30.4)(0.278 + 3.88 — 4.65) 33
[T A ————— L R e T =
(90.8 + 61.2 — 4.21) (-9.9) (m + 0.561 — 0.108)
_ 1 (0137 +126) - {5:89x107H] oo 34=
1/(0.689)

East coast butter sticks are 1.25 inches by 1.25 inches by 5 inches. West
coast butter sticks are 1.5 inches by 1.5 inches by 3.5 inches. What is the percent
difference between the amounts of butter? --------

—————————————————————————————— 35=

%

Emma and Cher live 3.2 miles from each other. Emma walks at 3.75 ft/s. Cher
walks at 4 ft/s. If they leave their houses at the same time and walk directly toward

————————————————————————————————— 36=

37.

37.

RECTANGLE

524

A

Perimeter = 3260

38. CIRCLE

Circumference = 0.00487

38.
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39 {59.5 + 42.2 ~ 6.13)2 - {=2820 + 11.4) - 39=
69 \2  (28.4\2
H - e TB3) e e e 40=
o  (gs) /(555) - e~ 723 ;
41: Y206 + 11.5 — 47 = 427 --ecmemememememecmcmmcmme o e oo 41=
v0.572 + 0.81 V1,31 - 0.433  V0.0499
42: + . e R LT 42=
0.837 0.837 0.837
42 (-6.75)(V0.243 - 0.052)  [(0.227)(4.23) is
' Va.11 (7.58x10-2)
2
0.0114 - 7.65 - 8.12 . .
aa; ( ) N 61%4+0925 a4
2.37 (0.425 + 0.0516 + 0.0759)2
(1/m)2
45: x [(14.4)(9.51 — 8.52)] ----mm-mmmmmemme e 45=
9.48 + 80.2 + v22.4
8590) - (961 - 853
46: (4.51x105)1/2 - (9.49x 107)1/2 - —8590) - { ) .. 46=
(66.3 — 3570) / (743 ~ 4370)
47: A grain silo is a right circular cylinder 43 feet tall with a diameter of 12 feet.
An auger can drop grain into the silo at 0.7 cubic feet per second. How long will it
take to fill an empty silo to 90% full? ------cvmmammmor e 47= hr
48: A farmer has 1120 yards of fencing. He needs to build a
rectangular field that holds 8 acres. What length (long side} should
the field be? [1 acre = 4840 square yards] ---------=-==-mcm-mooomaiuinnons 48= yd
49. RIGHT TRIANGLE 50. RIGHT TRIANGLE
38.5 —_T
21.6 2 >
0.128
Area =?
49, 50.
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51:

52:

53:

54

55:

56:

57:

58:

59:

60:
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1 .7 .2
y o - e e ih i mammamm e —————— —
5 + 38 + 84 51=
(1.92 + 0.395 ~ 0.533)3 = (9.70 — 8.93) ------mommmmmooaoa e 52=
3 1 \% 17920 + 2910
(0951)3 » [2042900) 53
(0.951) 0.951

[(0.515) + (0.736)(0.660)]1/3 — (2.28) -vvemmmcooiiiios 54=
3 5 =y _ 3.20 + 1.05 _
3/(5.06%109) + (9.9x107) R 55

(2.29 - 99.6)(78.4 — 559)

(-9.85 _ 79.6 - 863)(5.18 - 7.26)

216 1639 , 0873 ) o
8.96 — 6.45 00821 T TTTTTTTttoooroTnToromTTommmomooeees

(0.0425)0-734 x (5.44 + 9.77)0734 _ (0.334 + 0.0371) -----------ouen- 58=

How many digits are in the number (25552)46964 when written out? ------ 568=

Blair owns 11 books. She can select 4 books to take with her on a trip. How

many different combinations of 4 books are possible for her to choose? -~r----=~-- 60=

(integer)

{integer)
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61. RIGHT CIRCULAR CONE 62. RECTANGULAR PRISM

]<-——~D:480——T

?
T~ 4 82
Volume = 3.14x107 Total Surface Area = 147
61. 62.
63 10(2:39) 4 1003:25) 4 VB7400 - emem 63=
64: €069 « \J{0.0655](0.238) = o oeremmneeezoooooceeeooenna 64=
{8.13x102}
23.1\(-2.78) 0.701 + 0.736
65; o A T s 65=
9,01 3.16
66: (deg) [tan{242°) + sin{272°%)] x 991 ~-------ss-ommoomoooieno oo 66=
67:  (deg) sin(205° + 343%) 4+ sin{303%) «ereemeeosocooociainanoeneneos 67=

1.29 3.03 + 4.28
63: {rad) [cos h R 68=
tan(1.13 + 5.81) + 0.634

69:  (rad) [san (0.81) + cos?(0.81)] ~ (0.952)(0.900)  ---------momommnnno 69=
1/

o 0275 4 o3-19 , 50.303)1/9 o

) 20.928 -
7%: The number of people in a restaurant can be modeled by the equation
P(t) = ~12¢2 +60t+6, where t is the number of hours since the restaurant opened at
10am. How many people are in the restaurant at 12:30PM? ------------mommomroooos 71=—_____ (integer})
72: On Friday, a taco truck served 89 chicken tacos and 57 beef tacos for a total

revenue of $409.70. On Saturday, they sold 124 chicken tacos and 96 beef tacos
for a total revenue of $621.40. How much did they earn on Sunday, when they sold
74 chicken tacos and 59 beef tacos? ---------=------emmoomssmoooouemome e mnn e 72=%
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73. RIGHT CIRCULAR CYLINDER 74. CUBE WITH PYRAMIDAL CAVITY
O Center of Cube
I
110—,—1 J
|
R B
1/// \\\\
Ay y ~ .
/// L. 3 S~
_— - P \ /
; =7 \ )
——
R =56.2 1.8
Lateral Surface Area =7 Volume =7
73. 74.
tan{5.09} + tan(3.86)
75: {rad) —— e 75=
1 — tan{5.09)tan{3.86)
76:  Ln[19.7 + 11 + 7630 — 477] =---emsmmmmmcmem e mmmm oo 76=
. Ln[506 x214/987) in[797-539] e
' Ln[76.3] L.n[8.06] ;
1
78: - 1 + ! - = e TR L L E L L P 78=
(3.71) ~ 3(3.71)3  5(3.71)®>  7(3.71)7
79:  Log| /1200 + 940000 1n(0.0648) ________ . eeeeo.. 79=
(5290) (74000)
. sin{351°)
80: (deg) +/[sin{90° x 1.68)] - {m} ----------------------------- 80=
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1= 1610
1.61x 103
2= 1370
1.37%x 103
3= 450
450 x 101
4= 281G
2,81 %10
5= 1050
1.05% 103
6= 232
2.32x10°
7= 42.2
4.22x 101
8= 55500
5.55 x 104
9=  2.25
2.25x100
10= 136
1.36x 102
11= 4,23
4.23x% 100
i2= 106
1.06 x 102

13= 30 (integer)

14=

15~

17=

18=

19=

20=

21=

22=

23=

24=

25=

26=

6.56
6.96 x 100

3190
3.19% 103

~254
~2.54x10%

~3030
-3.03x103

219
2.19% 107

73.6
7.36x 10}

0.615
6.15%x 1072

10.1
1.01x 101

0.209
2.09x 1071

233
2.33x10%

2.83
2.83x 100

0.878
878x 107+

40.9
409x%101

27=

29=

30=

31=

32=

33=

34=

35=

37=

38=

ANSWERS

34.4
3.44% 101

0.0563
563x% 1072

0.787
7.87x10L

3.16
3.16x 100

1.42
1.42x 100

72.4
7.24%10%

~0.00284
—2.84%x1073

8.19
8.19x 109

0.800
8.00x 1071

36.3
3.63%x 107

1110
1.11x103

0.000775
7.75x 1074
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